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If the imports of company A in 1997 were 8.40 crore, what were the exports of company
B in 1998?
T 1997 W hUAT A hT ATATA 8.40 HUS AT, 7 1998 W HuT B <t FH=tar fera=r ar?

1). 6 crore 2). 7.40 crore 3). 7.20 crore 4). 3 crore 5). Data inadequate
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In how many of the given years were the imports more than the exports in case of
company B?

SHUAT B o ATHA | 20 U fepaa awt ® s1rama Hata o st on?

A.4B.5 C.3 D. 2 E. None of these
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If the imports of company A in 1998 were 10.40 crore, what were the exports of

company A in the same year ?

T 1998 | HUAT A T AT 10.40 FHAS AT, A7 IHT T hUAT A T a1 feha=T 22
A. 13 crore B. 12.75 crore C. 12.50 crore D. Data inadequate E. None of these
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It is supposed that imports —exports =x for company A in 1993 and the imports of company A in
1993 were 3.6 crore, and it is also supposed that Imports —exports =a for company B in 1997 and
the exports of company B in 1997 were 5 crore . What is relationship between a and x? I8 HTAT
ATAT 2 TR 1993 ¥ koAt U o foTu srrama-fAata = x 31X 1993 § ShuHT A T 3T 3.6 TS 9T, AR I8
ot AT ATAT 2 TR 1997 ® shut B o {10 Srrma-fRaia = a 3T 1997 W shut st st A 5 s Al a
3 x ok <1 AT Gaer 82

1.) x>a 2) x=a 3.) a>x 4.) cannot be determined S.) none of these
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if the exports of company B in 1995 were 2.19 crore, what were the imports of

company B in the same year?

T 1995 H SHaT B T AT 2.19 UL AT, a7 IHT 99 hu=T B T ATATT Fha=T AT?
A. 3.65 crore 2. 1.314 crore 3. 1.214 crore 4. 1.414 crore 5. data inadequate
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Study the following line graph carefully and

answer the questions accordingly.

Following graph gives the demand and

production of mobile phones of five
' C, Dand
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6. The production of company B is approximately what percent of the demand?

DY B BT TG T BT eRTHIT fhaTufaera g2

(A)714%  (B)85% (C)140% (D)66.67% (E)None of these
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7. The production of mobile phones by company C is the same as the production of which of the

;ﬁ;%tﬁm T TR 1 St et s R 3 @ Ry ot & Sare T

(A)AandC (B)Band E (C)D and E (D)B and A (E)None of these
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8.T %de%ndofco gﬁwaﬁ:’

(A)30%

(B)65%

approximately w

HIAT DT ATHIT

(C)83.3%
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(D)40% (E)None of these
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9. To meet its demand the company A wishes to buy the surplus mobile phones from a single

company. Which of the following compapies can supply?
O

(A)DB B)C OD (D) E (E)None of these

-¢-Production <=Demand

8 100
R %0 80
80 70

70 0 60
60

un
(an]

50
40

30

20
10




10. What is the average production of mobile phones by all the companies?

Tt dufal gRT A B &1 3iud SdTeH fhdare?
(A)6200  (B)50000 (C)52000 (D)62000 (E)None of these
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